
����� 2 

����	
  ���
� �������	���������������� 

 

2.1 ����	
������
�������������� 

 2.1.1 ���
��������������� 

  1. ���
������
�����!�����"���������	� 

 ����������	
��
��	�	���� �
��	�������������� (The saving Investment theory) ����
�������� ����������	�
���
������� �!��"�
��#���$����%���� &�'(����#���$����%����)� 

�*���+��,�%- �����	����.�����/0�������������	�
"�
��� ��1������������	�
.��$�����#���$��
��%�����2-*���$��� (�*�'�����������	�
���� ��#���$����%�����2-*������������.'���#���$��
��%����-*���$���-���'�
&#$�� �3����	
������#���$��.%��'�(�*��%����1�� 4 (�*��#.��0$��
��%�����	����.�����/0�
���5�5���������������	�
 �'�����������	�
.��$��� #�%��6�����'�����
�����-*���� (�*��1������������	�
���� #�%��6�����'�������������-*��%��$��� "�
�	$'�
.����%,���	����&���	.�������&!�$����%����  (Hoarding) (�*)�$6*��	
����&���	(!�����%�(!���
�1������!�1�-����%����$��5�'��� (�*&���	���.�'����%�)!��$��/����� �/%��
&�'������
���&#�	� 
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   ����������	�
 

   S1 

             D2                                                         

            D1                                                       

 

  I2                E2       

    I1                                              E1 

 

 

    S1        D2 

                        

           D1 

       0                                     Q1         Q2                                        #�%��6��%� 

                                             

��#�	� 2.1 ����������	�
���
����
��	�����	�
$��. �������.�%� 

    

 -����#�	�2.1 (������(������������	�
 (�����(��#�%��6��%� �.'� D1 D1 �#7��.'�
�����'�������%������$�����/���%- (�*�.'� S1 S1  �����#7��.'���%����$���*���+��,�%- 

������� ����������	�
���
�����%�-��-�����$���.'� D1 D1  ����.'� S1 S1  �����������������	�
���

���-���#7� Q1 (�*#�%��6��%���'���
����1� OQ1  (�*�'�)��*���+��,�%-���/���%-��%��	���
5�%�.%��'�(�*��%���)!�� 4 (New Innovation) -*�	5�� �)!'�.'���#.��0$����%�������1���-���.'� 

D1 D1 &#�#7� D2 D2 (�'�����������	�
���
���)!��-*.��$����#7� OI2 (�*#�%��6��%����)!'��'-*
������� OQ2      

 �
���&��2��� �
��	����������	�
$��. �������..%��	�&���#7��	�
�����)�#8--���� 

����*�
��	�	��	$'�- ������� �3�� �*���+��,�%-�
��)�����6*�	���-'�������2��	� &���	����1���%�
&�')��1� ����-�&���	���.�'����%�)!����%��$���"�
�*��/�������6%3
0 �#7��'� 
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2. ���
�#�	$�%��	�&'��(� 

 �
��	#�%��6��%�)!'��' (Loanable Fund Theory) �	�1��,����'�
����
��	$��. ����
���..%� (��&�'�	���� ����(#��	���	�
�$'����������#7�-�%�$���*���+��,�%-��#�*������
�%����*!0���$��� ���-���	�
���	�����!2���� ����������	�
"�
(�'-�%�(�'�&��&�'-��
��1�������� 

(���#7����-��
. �!������)!'��'  &�����(!�����%���'����-*��-���	�)� (�*��'&#��1��-��#�*.��0)� 

������� ����������	�
-������ �!��"�
��#���$����%�)!'��' (Supply of Loanable Fund) �����#.��0
$����%���' (Demand for Loanable Fund) 

 ��#���$����%�)!'��'�	(!����	���.��(!����'�
��� &�'(����%���� (Saving:S) (�*���
��%��$���$��#�%��6��%� (Money Supply : ����#�	�
�(#��#�%��6��%�) ���&�'(�� ���$
�
.%��31��
$���*��/�������6%3
0 ������� ����%����*!0$���
��	�	�-���#7�����6*$���
��	�	��	���
�#�	�
�(#��$�����(#���������  

 .���)��'����#.��0$����%���'���� �	�. ���9���&�'(�� �������� (Invest:I) (�*����1���%�
&�')��1� (Hoarding:H) ����1���%�3�%��	���--*�	����#7��� ������	
���� “dishoarding” �����%�-��
#�*3�3�� ������%��	��1�&�')��1�)����#:�	�5��� 4 �� ������#7���%���'���	�-*)!'��' !�1���%�-��
#�*3�3���.��.���$������1���%��	���� (��� �&#)!'��'(�� ����	5�� �)!'��%������1����������
��%��$��� ������� �
��	#�%��6��%�)!'��'-��(.��&�'���.���� 2.1 

          

Sa + � M = H + I           (2.1)   
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    ����������	�
 

 

                                          �M                                         Sa              

                                                                                 S(Sa+�M) 

                    H                        

 

 

                        I                                                                          E 

 

  

                                                                                                    I                           D(H+I) 

                                                                                                                                        

           0                                                                    Q1                  #�%��6��%� 

                         ��#�	� 2.2  ����������	�
���
����
��	#�%��6��%�)!'��' 
 

 -����#�	� 2.2 �.'� H �����-���'�
&#$�� (.���������1���%�.��
��)��1������	����.	

"���.)������� �'�!������������	�
.��$�������*���!���� ���$�� H -*�%��� ������	
���� 
“Dishoarding” ��%�-�����	�����������	�
�	���%������� �)!'����.	
"���.$����%��	��1��	#�%��6.��$��� 

-�� �)!'������$������1���%�.�����-��%��� �.'� I (.����������'�������%������1���������� 

)���6	�	�����������	�
.��#�%��6�����'�������%����-*�'�
 (�*����������	�
�� ���#�%��6����
�'�������%������-*��%��$��� ������� �.'� I -���#7��.'������-���'�
&#$�� .��5�)!'�.'���#.��0
$����%���'��� (total demand for loanable fund: D ) -���#7��.'������-���'�
&#$���3����	
���� 

 .����.'�    �M -*�	����3���
���&����� $����
����� “money supply function” ���
�"
��
�����%�$���*���+��,�%-(!������ �����"
��
�����%�(�*��#���$����%����.���
����������	�
)��3%���� �.'�    �M -*���$���-���'�
&#$�� (���'��#7���6	�1��(�'� �����
�����	�
-*&���	5�����.'�    �M ����	�(.��&�')���� .����.'���%����  Sa   �	����.�����/0���
����������	�
)��3%���� ������� �.'� Sa -�����$���-���'�
&#$�� .��5�)!'�.'���#���$����%���'
����!�� (Total of Loanable Fund : S) �#7��.'����$���-���'�
&#$���'�
 �����������������	�
-��
���� �!��"�
-�����$���.'� S (�* D ���)���� ����������	�
���
����1� OI (�*#�%��6��%���'
���
����1� OQ1 
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 �
��	#�%��6��%�)!'��'����	������$'���'��%)3��
��	����/%��
�*���+��,�%-��� (��
�#7��
��	�	��/%��
�;��*.���$���������.%��31���������� ������� ��1���	�-*� �)!'�
��	#�%��6
��%���'�	�����#7�-�%� - ��#7��'��$
�
������#.��0$����%���' (Borrowings : B) ����.���)!9��%)3���1��
���������������� (��
����1�������%"��$��#�*3�3�(�*�����'
1�$�������,"�
�;��*�
���
%�����
��'
1�$����,����	5���*���������������	�
�
����	��
. ���9 ����	��
��	#�%��6��%�)!'��')��'����#
.��0$����%���'����- ��#7��'��� ������������'$����,��� (Bg) $��5�'��%"�� (Bc) ��1���	������+�
 (Bh )  

(�*��1����2�� �&� (Bs) �������-��� �)!'.�����
��	#�%��6��%�)!'��'#���#���)!'.����60
%��$���&�'���
.���� 2.2 

 

S + �M = H + I + Bg + Bc  + Bh + Bs ……(2.2) 

 

 3. ���
����$)*�)�&�&��+�)��,�� 

 �
��	���������)-)�.�������� (Liquidity Preference Theory)  �'�������)�(��$��
(���*�� ����1���%�&�'����*�	�����#�*.��0���� 4 ���  ���� Keynes &�')!'��+�*�����'������1���%�
&�'��� ����1���%�.������	.��'��������.	
"���. �1��.	
"���.�	�-*&�'�����	�
!�1������
5����(��������&�'-������ ���%�- ��������&#<��/�����!�1������ (�* Keynes &�'���&�'
��� ����	�������'������1���%�&�'- ����!�����2��1��)!'�	.�������� ����*�	�����#�*.��0���� 4 ��� 

3 #�*����1� 

 1. �����#�*.��0��1��&�'-��-��
)3'.�
  ( Transaction Demand for Money ) 

 2. �����#�*.��0��1��. ����&�')3'
��;���;%� ( Percautionary Demand for Money ) 

 3. �����#�*.��0��1����2�� �&� ( Speculative Demand for Money ) 

1. �����'������1���%���1��&�'-��-��
)3'.�
 ( Transaction Demand for Money ) 

    ��%�-��������1���	����- ��#7��	��'������	���-��-��
)3'.�
��1���1��.%��'�(�*��%��� 

. �!���� ���3	�#�*- ����  ��%��	��	&�'-��-��
)3'.�
�����	
���� Transaction Balance  #8--�
. ���9�	�
� �!����#.��0�����%���1��-��-��
)3'.�
�1���
&�'#�*3�3��% �'���
&�'#�*3�3��%.�������'�����
�1���%���1��)3'-��
-*.��$��� ��#.��0�����%�#�*����	�-*5��(#�&#"�
�������*�����
&�'
#�*3�3��%  ���-���	�����������	�
�2�	.���� �!����#.��0�����%�#�*����	��!�1����� ����*���
����1���%�&�')�$6*)�$6*!����-*��%��'��������.	
"���.)���#�����	�
�	����-*&�'���-�����
�����%�&#�����)�.����1�� ��������'����)!'.�9����60����	� 
  



  

 
12

 MDt  =  �����'������1���%�&�'-��-��
)3'.�
 

 Y     =  ��
&�'#�*3�3��% 
  i      =  ����������	�
 

   MDt  =  f(Y,  i)               (2.3) 

 �'� Y .�� MDt  -*.������'�
 (�*�'� i  .���'��������1���%�.�� MDt   �2-*�'�
 �1� "�
���� 

4 &#���-*)!' MDt   = (Y) ���������MDt   ������� �!�����  i  ���	� ����*����������	�
�	�����
����$'���'�
 

 2. �����'������1���%���1��. ����&�')3')�
��;���;%� ( Precautionary Demand for 

     Money ) 

    "�
����&#�����- ��#7��'���1���%�&�'- ����!������1���!�����60&������%� �3�������%�!��  
����-2�#=�
��*���!�� !�1������ ����*��
&�'(�*��
-��
)������&��(����� ��%��	���2�&�'
��
;���;%��	���	
���� Precautionary Balances  ���� �!�������%��	��1�&�'��1��;���;%�-*����'�
(��&!�
$����
�����$���$���%-�������+��,�%- �1���
&�'#�*3�3��%(�*
��$����
���������������	�

�3����	
���������'������1���%�&�'��1��-��-��
)3'.�
 �1������'������1���%�#�*����	�-*(#�5��
"�
��������
&�' (�*��--*(#�5�5���������������	�
  ���)!'.�9����60����	� 
  MDp = �����'������1���%�&�'��1��
��;���;%� 

  Y      = ��
&�'#�*3�3��% 
  i       =  ����������	�
 

  MDp =  g(Y,  i)    (2.4) 

  �'�������     MDp ������� �!��)!'����������	�
(i) ���	�  �1����� 4 &#���-*)!' 
MDp =  g(Y) �����-.����������#.��0�����%�����.���$'��'�
���-*&�'  

  MDt+p   = MDt + MDp   (2.5) 

  MDt+p   = f(Y , i ) + (Y , i ) = h(Y , i ) (2.6) 

  MDt+p   =  �����'������1���%���1��-��-��
)3'.�
(�*)3'
��;���;%� 

  Y         =  ��
&�'#�*3�3��% 
   i           =  ����������	�
 

  MDt      = �����'������1���%�&�'��1��-��-��
)3'.�
 

  MDp       = �����'������1���%�&�'��1��)3'
��;���;%� 
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 3. �����'������1���%�&�'��1����2�� �&� ( Speculative Demand for Money ) 

 �����'������1���%�&�'��2�� �&��#7������'������1���%�&�'��1���#7������������� Wealth  

������%��	��1�&�'��2�� �&���	
���� Speculative Balance �����'������1���%�&�'��1����2�� �&��	��1�����
�'������1�&�'��1����2�� �&�-������#�	�
�(#��$������!�������
0��1������������	�
�#�	�
�(#��
&# �'�����������	�
)��'�������
��)�������� � ����.	
"���.)�����1���%�&�'�2-*�� � �����'�����
�1���%���1����2�� �&�)�����!�������
0�2-*�	��� (�* 6 �*�������������	�
�	� ��.���)!9�-*���
�������������	�
-*&���� �&#�����	� !�1�����!�������
0-*&��.��&#�����	��#7��
���	� (��-*����)�
����� -*�!2�&�'�������1���%���1����2�� �&�$����
���������������	�
 (�*�	����.�����/0)��%+
������$'������������������	�
 (�*�'����)!' MDs  �#7�.�9����60(�������'������1���%�&�'��1��
��2�� �&� (�*)!' i (������������	�
 -*&�'>8��03����1� 

MDs  = k(i)  (2.7) 

 "�
 MDs  -*�	����.�����/0�������������	�
)��%+���������$'�� �'�  i  ��%��$���   

���� (�*������$'���'� i  ���� MDs  -*��%��$���  

 �����'������1���%��������!�� (Total Demand for Money : Md  !�1�  MD) �1�
5����$�������'������1���%�����.��#�*��������� -*&�'>8��03��� 

MD   =  MDt+p  +  MDs   (2.8) 

                 =  h( Y , i )  + k(i ) 

                  =  ø (Y , i ) 

"�
�	� 
  MD  =  �����'������1���%��������!�� 

 MDt+p  =  �����'������1���%�&�')3'-��
(�*��1��
��;���;%� 

 MDs   =  �����'������1���%�&�'��1����2�� �&� 

 Y       =  ��
&�' 
  i        =  ����������	�
 

 ��1������������	�
���� �����'������1���%����-*��%��$��� ����*�'��������.	
"���.
$������1���%�-*���� ������������'������1���%�&�')3'-��
(�*)3'
��;���;%�-*���$��� (�*����
�'������1���%�&�'��1����2�� �&�-*��%��$���� �)!'����!�������
0��%��.��$��� ���2-*&��&#�1���������
0 
)����������$'���'�����������	�
��%��.��$��� �����'������1���%�����2-*���� (�*�����'�����
�1���%�&�')3'-��
(�*)3')�
��;���;%�-*���� (�*�����'������1���%���1�����	�-*��2�� �&��2-*
������1���-������!�������
0����  
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 4. ���
������	����-��
�$� 

 �
��	�	��%�"�
����+��,+�.��031�� �%���� >�	�(�� (Milton Friedman) �	�.��#���
#�%��6��%��	����. ���9����+��,�%-��������"
��
���� �����'-�����)����  “��������%��%
�”  

(Monetarist) (�*�����	
���� “���/%�����%��%
�” (Monetarism) !����	�. ���9$���
��	�	��2�1� ��%�
�%&�'�#7�.1������)����(���#�	�
�(�*������������������� (��
���#7��	����3�������$��� ���-�1��
�'�
 ���������%�-�������������.%�����
0�1��4 �	��	.��������.���	��'�
 "�
�	���#.��0$����%� 

(Demand for Money : MD) $����
������*�������.%��'� (Price:P) �����	�
��%�<��#�*- � (Return 

from Fixed Deposit : rm  ) �����	�
���/���� (Return from Bond :rb ) 5����(����������)�
!�������
0 (Return from Equity : rb )  ���������#�	�
�(#��$������.%��'�����      �����.���
�*!��������
�������
0������������������ (Wealth : W) ��
&�' (Yield : Y)  (�*���������)- 

(Utility : U)  ��-�$	
���#.����&�'����	� 
 

              MD = f (P , rm , rd , re , �P/P , W , Y , U)    (2.9) 

 

 �����
��	�31�����)�.����+��,�%-.������
���60�����'������1���%�&�' ����*�	
�
�%�����	�(����� ����(.�����5����(��-����������)���#$�������	�
�2�#7�.���!����  (�*
(#�5��)������	
���������'������1���%�������������1��"
��
�����%�$�������,���.������
���#�%��6��%�)��*���+��,�%-�
����!��*.�-*.��5�)!'�+��,�%-�	�����%�"��
����	�.�	
���� 

 

2.2.2 ���
������������/��$���� 

   �
��	�	�+�����������.�����/0$�����(#����� 4 �	��	����6*�#7�$'�������������� ����)�
���+�����3%�#�*-���0�	�)3'$'�������������� (Time Series Data)  �	��1���&$���$'�����	�� ���+����
-*�'���	����6*�%��  (Stationary) ��1��-*&�'����!2�����.�����/0�	�(�'-�%�$�����(#����� 4  

�������  )����� �$'����������������+����-*�'���	�����.���������  $'���������	����6*�%��
!�1�&��  "�
�
��	(�'�  ���)3'$'��������������"�
&��&�'���-.�������%��$��$'�������� (�'�
� �����%����*!0��������
�'�
���(#��	�&���%�� (Non-stationary)  ���.�%�%  (t-statistics)  -*�	���
(-�(-�(��&������,��  (Nonstandard Distributions) ����5��	�������2�1�  ��-� �&#.�������
�����!2��	�5%�  �����#7�&#&�'�	�-*� �&#.���������
�	�&������'��  (Spurious Regression)  
���'����
����.�����/0��������-*�	����6*�#7�����.�����/0(���������&#�'�
���  (Cointegration 

Relationship)  ����-*� �)!'���.�%�%  t  (�*  F  .�����)3'��.��&�' (���+���%?  +�	��9-%��0, 2547)  
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����$'��������+��,�%-�	��#7�$'��������������.���)!9�  -*�	����6*&���%��  ������1�  ����;�	�
  

(Mean)  (�*�������(#�#���  (Variances)  -*�	���&�����	��#�	�
�(#��&#����������  � �)!'
����.�����/0�*!�������(#�$��.����   �	����.�����/0���(��&��(�'-�%�   (Spurious 

Relationship)  "�
.�����-�����.�%�%������  �3��  ���.�%�%  t  -*&���#7����(-�(-�(������,��  

(�*���  R2  �	�.��  )�$6*�	����  Durbin-Watson (DW) Statistic �� �  ����(.�������%�#89!����
.!.�����/0 (Autocorrelation)  $�������������1��� �������)�����%����*!0����.�����/0$�����
(#������������'�
����%� regression -���'���	����%����*!0)��'������ 4����	� 
 

   1.   ����
������$�	��������$(�'�0��(�	��(�  (Unit Root Test) 

         �%/	�����.��  Unit Root  !�1�����������.�����/0$��$'����  (Order of Integration)  

�#7������.�����(#�����+��,�%-����4 �	�-*� �&#)3')�.�������$'�����	����6* “�%��”  [ I(0); 

Integrated of Order Zero ]  !�1�  “&���%��”  [ I(d); d > 0, Integrated of Order d ]  �����#7�$������
(��)����+������
)�'�%/	  Cointegration and Error Correction Mechanism  !�������&��.�����
#@%�./  $'�.���%,��������(#�!����4 (x)  �#7�  Unit Root  (�'�  �2���������������  ���(#�����&��
�%��  �����%/	�����.��  Unit Root  ����.�������.��"�
)3'�����.��  Dicky-Fuller (DF Test)  

(Dicky and Fuller, 1981) (�*�����.��  Augmented Dicky-Fuller (ADF Test)  �	�  Said and 

Dicky  &�'�����&�'  ��1����.�������%��$��$'�����	�� ���+���� "�
� ����  ADF t-statistic $��
$'�����	�� ������.�����#�	
���	
��������%�
�%  MacKinnon  (.�����$'�����	�����%�� 
(Stationary)  (�*.�����#@%�./.���%,�� (Dimitrova, Desislava, 2005) 

"�
.���%)!'����.�����/0�#7�����	� 
  

  tY     �    ttX ��� ��      (2.10) 

  tX  = 1�tX� + et     (2.11) 

 

"�
�	�   tY   �1� ���(#���� 

    1, �tt XX  �1� $'��������������$�����(#��%.�*  6 ����  t  (�*  t-1 

    �� ,   �1� ��������%����0 
 �   �1� ���.��#�*.%�/%?���.!.�����/0  (Autocorrelation      

                                                      Coefficient) 

    t�  , et  �1� ��������������1����3%�.���  (Random Error) 
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.���%,��$�������.��  �1� 

    0H  : � = 1 

    :1H  � < 1 ; -1, � < 1 

 

�����.��������(#��	�+����  (X t)  �	
��%����!�1�&��  .������%-��6�&�'-�����  �  "�
�	� 
�'�
�����  0H  : � = 1 !��
������� tX   �	
��%����  !�1�  tX   �	����6*&���%�� 
�'�
�����  :1H � < 1 !��
������� tX   &���	
��%����  !�1� tX   �	����6*�%�� 
  

  -������#�	
���	
����  t-statistics  �	�� ���6&�'������)������  Dicky-Fuller  �������  t-
statistics  �	��'�
�������)������  Dicky-Fuller  -*.�����#@%�./.���%,��&�'  (.��������(#��	�
� �����.���	����6*�%��  !�1�  �#7�  Integrated of Order Zero  (���'�
 tX    ~ I(0) 

�
���&��2��������.��
��%������������$'���'�  .������ �&�'�	��%/	!����  �1� 

)!' 
    �   = )1( �� ; -1 < �  < 1   (2.12) 

 

"�
�	�    �     =   �����%����0 
-*&�'   tX   = �� �1)1( tX�  et   (2.13) 

    tX   = 11 �� � tt XX �  + et   (2.14) 

    1�� tt XX  = 1�tX� + et    (2.15) 

    tX	   = 1�tX� + et    (2.16) 

 

-*&�'.���%,�������.��  Dicky-Fuller  (DF)  �1� 

   0H  : �  = 0  ( tX   �#7�  Non-stationary  ) 

     :1H  �  < 0  ( tX    �#7�  Stationary  ) 

  �'�
�����  0H  : �  = 0 -*&�'��� �  = 1  !��
�������  ���(#��	�+���� ( tX ) �	
��%����  

!�1�  �	����6*&���%��  (Non-Stationary)  ��1���-��$'�������������� 6 ����  t  �	.���.�����/0���
$'�������������� 6 ����  t-1  (���'�
�����  :1H  �  < 0-*&�'��� �  < 1  !��
�������  ���(#�
�	�+���� ( tX ) &���	
��%����  !�1�  �	����6*�%��  (Stationary) 
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  ��1���-��$'�������������� 6 ����  t �	.���.�����/0���$'�������������� 6 ����  t-1  

������	�(�*(��"�'��������  Dicky-Fuller  -���%-��6�.��������
  3  ��#(���	�(���������)�
�����.������	
��%����!�1�&��  &�'(�� 
 

Random Walk Process  tX	  =   1�tX�  + te   (2.17) 

Random Walk with Drift  tX	  =  �� 1�tX� + te  (2.18) 

Random Walk with Driff  tX	  =  t�� � + 1�tX� + te  (2.19) 

and Linear Time Trend 

 

"�
�	�  1, �tt XX  �1� $'��������������$�����(#��%.�*  6 ����  t  (�*  t-1 

   ��� ,,  �1� ��������%����0 
   t  �1� (��"�'����� 
   te   �1� ��������������1����3%�.��� 

 

  �������.���%,�������.��  Dicky-Fuller  �#7��3����	
�����	��������(�'�$'���'�  .������
��.��"�
)3'  Augmented Dicky-Fuller (ADF Test)  "�
�����%��$����������
)�������  
(Autoregressive Process)  �$'�&#)�.����  �����#7����(�'#89!���6	�	�)3'�����.��  Dicky-

Fuller  (�'����  D.W. (Durbin-Watson Statistic) �� �  �����%��$����������
)��������$'�&#����  

5������.��  ADF  -*� �)!'&�'���  D.W. �$'�)��'  2  � �)!'&�'.����)!��-�������%��- ����$��
���(#����  ( Lagged Difference Terms,  p)  ����-*$����
����������!��*.�$��$'����  !�1�  

.�����).�- ����  Lagged Difference Terms, p  �$'�&#&�'-���*����&����%�#89!�  
Autocorrelation  ����	� 
 

  tX	  =  1�tX�  + it

p

i
i X �

�

	

1
� te�    (2.20) 

  tX	  = 1�� tX��  + it

p

i
i X �

�

	

1
� te�    (2.21) 

  tX	  = t�� �  1�� tX� + �	 �
�

 it

p

i
i X

1
� te   (2.22) 
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"�
�	� 1, �tt XX   �1� $'��������������$�����(#��%.�*  6 ����  t  (�*  t-i 

  ���� ,,,  �1� ��������%����0 
   t  �1� (��"�'����� 
   te   �1� ��������������1����3%�.��� 

 

  - ����  Lagged Difference Terms, p  �	���%���$'�&#)�.����-*$����
����������!��*.�$��
(���*����%-�
!�1�.�����).�- ����  Lagged Difference Terms, p  �$'�&#&�'-������������
�������1���-*&����%�#89!�  Autocorrelation  - ����$�����(#����  ( Lagged Difference Terms,  

p)  �	�-*� ��$'������)�.��������  -*�'���	������	�-*� �)!'���(#������������1��� (Error 

Terms)  �	����6*�#7��%.�*������ (Serially Independent)  (�*��1��� ���������.��  DF Test  ��
)3'���.����  (12), (13), (14)  (�'�  ���-*��	
����   Augmented Dicky – Fuller (ADF Test)  ����
���.�%�%��.��  ADF  -*�	���(-�(-��3%��.'�� ����  (Asymptotic Distribution)  �!�1�����
���.�%�%  DF  ��������2.�����)3'����%�
� (Critical Value)  (����	
����&�'   
  "�
)������.��.���%,�������%/	  Dicky-Fuller Test (DF Test)  (�*  Augmented Dicky-

Fuller (ADF Test)  -*��.����1��)!'����������(#��	�+���������	
��%����!�1�&��  .������%-��6�
&�'-�����  �   �'��	����������  0  (.�����  ���(#��	�.�)-�	
��%����   

 

.���%,���	�)3')������.��  �1� 

  0H  : �  = 0   ( tX    �#7�  Non-stationary  ) 

  :1H  �  < 0 ( tX    �#7�  Stationary  ) 

 

  .�������.��.���%,��&�'"�
����#�	
���	
����  t-statistic  �	�� ���6&�'������)������  
Dicky-Fuller  �������  t-statistic  �	�-*� �����.��.���%,��)�(���*��#(������  -*�'��� �&#
�#�	
���	
���������  Dicky-Fuller  6 �*�������4 �'�.�����#@%�./.���%,��&�'  (.��������
(#��	�� �����.���	����6*�%��  !�1�  �#7�  Integrated of Order Zero  (���'�
 tX  ~ I(0) 

��6	�	������.��.���%,�������  ���(#��	�+�����	
��%����!�1��	����6*&���%��  -*�'��� ����  	 

tX  ��� �  Differencing  -���*����.�����#@%�./.���%,���	���� tX  �	����6*&���%��&�'  ��1��
�������  Order of Integration (d) ����
��)��*���)�  [ tX ~ I(d) ; d > 0 ] 
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  2.    ����	�����'����$��$)��7��8	�
/��+�)&��������  (Cointegration Test) 

   �%/	�����.������������&#�'�
��� (Cointegration Test) �#7������.������
.����'��$��$'��������������$�����(#����)�4 ����	������1���&!��	�.����'�����!�1�&��  
��1���-�������31��)�����+��,+�.��0�	����  �
����'�
)��*
*
��(�'�  ���(#�����+��,�%-���
-*�	�������1���&!�)��%+���)��%+���!�����	�.����'�����  (�'���)��*
*.���������1���&!�
$�����(#���������  ��-�	������1���&!��	�&��.������ �!���%+����	�(�����&�'�2���  (�*
��
�#7������.��������1���&!�$����������������1���  (Error Term)  $��.��������.�����/0
�*!�������(#��	��'�������.��  �����	��1���&$����	� 
   2.1)  ���(#������������	��'�������.��  �'���	��6.����%�����%��$�����(#�  (���'�
���(#��	��'�������.��&���	��6.����%��������  ����#�	�
�(#��$�����(#� 6 � �����	�)�4 (d)  

�	��6.����%$�������%��  ���(#��������������������	����.�����/0�3%����
����*
*
�� 

   2.2)  (�'������(#��	��'�������.��-*&���	��6.����%�����%���
���2���  (���'��������
�������1���  ( e t ) $������.�����/0�3%��.'����$�����(#����)�4 �	��6.����%$�������%��  
.����������&�'���  ���(#�����.������	����.�����/0�#7�  Cointegration  &�' 
 ��!��������
���  Cointegration  �	������&#�	� 
  1)  ��.�����(#�)�(��- ��������	����6*�#7�  Non-Stationary  !�1�&��  "�
)3'�%/	  ADF 

Test    "�
&���'��).�������	�(�*(��"�'�$������ 
  2)  ���#�*��6.��������
�'�
�%/	� ����.���'�
�	�.��  (Ordinary Least Square : OLS) 

  3)  � �.����	��!�1�  (Residuals)  �	�#�*��6&�'-��$'�  2  ����.������	����6*�%��!�1�&��  
�����#7������.��  Residuals  ������&#�	� 
 

  tê	  = 1ˆ �te�  + tv     (2.23) 

"�
�	� tê , 1ˆ �te   �1� ���  Residual  6 ����  t  (�*  t-1  �	�� �������
)!�� 
  �   �1� ��������%����0 
  tv   �1� $'��������������$�����(#�.��� 

.���%,���	�)3')������.��  Cointegration  �1� 

  0H  : �  = 0 ( &���	����������&#�'�
��� ) 

        :1H �  < 0 ( �	����������&#�'�
��� ) 
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  �����.��.���%,��"�
����#�	
���	
����  t-statistic  �	�� ���6&�'-�������.���$��  �  

/  S.E.  �  &#�#�	
���	
�������)������  ADF Test  �����'����  t-statistic  �����������%�
�%  
MacKinnon (MacKinnon Critical Value)  6 �*�����
. ���9�	�� �!��&�'  -��#@%�./.���%,������  
����-*� �&#.��$'�.��#�	�������(#��	����6*&���%��  (Non-Stationary)  )�.�������������	
����6*�������&#�'�
���  (Cointegration) 

  �
���&��2���  �'�.������'��  !�1�  .����	��!�1�$��.���� (2.23)  &���#7�  White Noise �2
-*)3'�����.��  ADF  (���	�-*)3'.���� (2.23)  .���%���  vt  $��.���� (2.23)  �	.!.�����/0
�3%�������  (Serial Correlation)  -*)3'.����  ����	� 
 

   tê	  = t

p

i
itit veae 


�
�� �	�

1
1 ˆˆ�    (2.24) 

 

  (�*�'�  -2 <  �  <  0  ���.�����-*.��#&�'���  .����	����'��!�1�.����	�!�1�  (Residuals)  �	
����6*�%��  (�* tX    , tY -*�#7�  CI (1,1)  .��������.����  (2.23) , (2.24)  &���	�-�0.������  

(Intercept Term)  ��1���-��  tê   �#7�.������'��-��.��������
  (Regression Equation) 

 

  3. ����	�����'����$��$)��7��8	�
/��+�)&�������!�  (Error Correction Model) 

   ��1��� ������.��$'��������������(�'�  $'�����	����6*&���%��(�*&����%�#89!�.����
����
&��(�'-�%�  .��������
�	�&�'�	����������&#�'�
��� (Cointegrated) "�
�	��&����
#�������$'�.�����
����*
*
��  !��
�������  ���(#�����.���	����.�����/0�3%����
����*
*
��  

(Long Term Equilibrium Relationship)  (��)��*
*.�����-�	������������
���&�'  (��- ����  
Error Correction Mechanism (ECM) -*�%-��6�������#�������$'�.����
���)��*
*.���   

   .���%)!'���(#� tX  (�* tY   �#7�$'���������������	����6*&���%��(�*&����%�#89!�
.��������
&��(�'-�%�  .��������
�	�&�'�	����������&#�'�
��� (Cointegrated)  �	��&����
#�������$'�.�����
����*
*
��  !��
�������  ���(#�����.���	����.�����/0�3%����
����*
*
�� 

(Long Term Equilibrium Relationship)  (��)��*
*.�����-�	������������
���  ;*����  ���
.������ �!��)!'���(#��������1��� (Error Term) )�.�����	��������&#�'�
���  (Cointegrated)  

�#7���������������1������
���  (Equilibrium Error)  (�*���.������ ����(#��������1�������  

�#7�����31����*!�����
�%�����*
*.���(�*�*
*
���$'��'�
���  ����6*. ���9$�����(#�������
�����	��	�������&#�'�
���  �1�  �%�	���� (Time Path)  $�����(#��!����	�-*&�'����%�/%�����

^               ^ 
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��	�
����-�����
����*
*
�� (Long Run Equilibrium) (�*�'��*��-*����&#.�����
����*
*

��  ������1���&!�$�����(#��
����'�
������(#�-*�'�����.������$���$�����������
���
���)�  Error Correction Mechanism  (ECM)  ����6*������-�0�*
*.���  (Short-Term 

Dynamics)  $�����(#�)��*������-*&�'����%�/%��-�������	�
�������-�����
���)��*
*
�� 

(���+���%? +�	��9-%��0, 2547: 480) 

����
���(��- ����  ECM  �#7�����	� 
 

  tX	  = tjt

q

j
j

p

i
itit YXe 1

01
11 ˆ �
�� �	�	� �

��
�� 

   (2.25) 

 

  tY	  = tnt

k

n
n

r

m
mtmt YXu 2

10
12 ˆ ���� �	�	� �

��
�� 

  (2.26) 

"�
�	� tt YX ,   �1� ���  Natural Logarithm  $��$'�������������� 6 ����  t 
  21 ,��   �1� ���������2�)����#�������$'�.�����
����*
*
�� 

  mj �
 ,   �1� �������
1�!
����*
*.��� 

  11 ˆ,ˆ �� tt ue    �1� �-�0$��  Error Term  

  tt 21 ,��   �1� ��������������1��� 

   

  ��#(�����#������)��*
*.���-*� �������5���*���	���%�-�������������1���"�

�%-��6����#������$�����(#�)��*
*
��  �����1�  1�te   )�.���� (2.24) (�* 1�tu   )�.���� 

(2.25)  ������#(��)����#������)��*
*.������(��- ����  ECM Model  ����	�(.��)�.�����	� 
(2.24) (�* (2.25)  .������	����&�'����#7���&��	�(.�����#������)��*
*.�����1��$������
.����  ��1��)!'�$'�.�����*.����)��*
*
��  .������.��#�*.%�/%?$��  1�te   (�*  1�tu   -*(.��)!'
�!2����$���$�����$������.����  �*!�������   tX (�* tY  )�3�����������!�'�  ��#(��$��  
ECM  3	�)!'�!2��������#�	�
�(#��$��  tY -*&��$����
���������#�	�
�(#��$�� tX  ��������  (��-*
$����
�����$���$�����$������.����)��*
*
��  �*!�������  tX (�* tY  �	���%�$���)�3�������
����!�'��	� 
 .���%,���	�)3')������.��  ����	� 
 1. 0: 10 ��H   &���	����.�����/0���)��*
*.��� 

  0: 11 ��H   �	����.�����/0���)��*
*.��� 
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 2. 0: 20 ��H   &���	����.�����/0���)��*
*.��� 

  0: 21 ��H   �	����.�����/0���)��*
*.��� 

  ��1��� ������.��(�'������  5������.��
�����.���%,��!���  ( 0H ) .�����.��#&�'
��� tX   (�* tY   &���	����.�����/0���)��*
*.���  (���'�5������.��#@%�./.���%,��!���  

"�
 �  -*�	����
���*!����  0  ��� -1  .��#&�'��� tX  (�* tY  �	����.�����/0���)��*
*.��� 

 

  4. ����
����$$�	����8	��#9��'�/�#9�:� (Granger Causality Test) 

   (���%�(�*�%/	��.��  "�
.���%����	���(#�- ����  2  ���  �1�  X   (�*Y  )�����6*�	�
�#7�$'��������������  �'�����#�	�
�(#��$��  X  �#7��'��!��$������#�	�
�(#��  Y   (�'�  

����#�	�
�(#��$��    X   �2����	�-*��%�$�����������#�	�
�(#��$��  Y   �������  �'� X   �#7�
�'��!��)!'��%�����#�	�
�(#��)�  Y   ��1���&$  2  #�*����	�-*�'����%�$���  �1� 

   ���������     X -*3��
)����� ���
  Y   !��
�������  )��������
$��  Y   ���
����	�5�����$��    X  ����� �!�'��	��#7����(#��%.�*  ����	�-*�	.���3��
)������%��� ���-���
�/%��
  (Explanatory Power)  $��.��������
�
����	��
. ���9 

   ��������	
��  &�����)3'  Y   )����� ���
 X   ��1���-�����  �'� X  .�����3��
)����
� ���
  Y  (�*  Y  �2.�����3��
� ���
  X  &�'  ����!��
�������  ���-*�	���(#��1���	�!�������
!�1������������  �	��#7�.��!��)!'��%�����#�	�
�(#������)�  X   (�*  Y   �������  �'����.��
.���%,������  ( 0H )  �	��������#�	�
�(#��$�� X   &��&�'�#7��'��!��$������#�	�
�(#��  Y   

"�
)3'.��������
  2   .����  ����	� 
 

   tY  = 
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X Y� �� �
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  ui    (2.27) 

 

   tY  = 
1

h

n t n
n

Y� �
�

�
 ui      (2.28) 

  

 .�����	�   (2.27)  ��	
����  �������
�	�&��).�$'�- ����  (Unrestricted Regression)   

 .�����	�   (2.28)  ��	
����  �������
�	�).�$'�- ����  (Restricted Regression)  "�
�	� 
 RSS r    =  .����	��!�1�
�� ����.��  (Residual Sum of Squares)  -��.��������
�	�).�$'�- ���� 

 RSS ur  =  .����	��!�1�
�� ����.��  (Residual Sum of Squares)  -��.��������
�	�&��).� 
           $'�- ���� 
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  ����*;*����  .���%,������  )��3%�.�%�%  .�����-*�$	
�&�'����	� 
  0H : 1 2 ... 0r� � �� � � �  

  :1H 0H    &���#7�-�%� 
 "�
.�%�%�	�-*)3')������.��-*�#7�  .�%�%  F  ����	� 
  Fq, (n-k) = 

)/(
/)(
knRSS
qRSSRSS

ur

urr

�
�

 

 

  �'����#@%�./  0H   �2!��
�������   X  �#7��'��!��$������#�	�
�(#��  Y )�� ����
��	
����  �'�����'�������.��.���%,������  ��������	�
�(#��$��  Y   &��&�'�#7��'��!��$�����
�#�	�
�(#��   X   ����2-*�'��� ���*��������.���
�����	
����$'���'�  ��	
�(�����  .���
�#�	�
�(��- ����$'���'�  -�� X    ���#7�  Y   (�*-��  Y   ���#7� X    ����	� 
 

   tX  = �� �
�

�
�
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n
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m
m XY

11
��  ui    (2.29) 

 

   tX  = ��
�

 nt

k

n
i X

1

�  ui      (2.30) 

 

  ��	
�.�����	� (2.29)  ���  �������
�	�&��).�$'�- ����  (�*.���� (2.30)  ����������
�	�).�
$'�- ����  (�*� ���)3'.�%�%  F  )������.���3����	
���� 

 

 

.���%,���	�)3')������.�������#7��!���#7�5�  �1� 

 

  :0H  1 2 ... 0r� � �� � � �  

          :1H  0H &���#7�-�%� 
 

  -*.������!2�- ����$��������(#����  ( Lagged Difference Terms)  �����1�  p  )�.����
�!����	�  �#7������$�	�� �!��$������  "�
����&#(�'�  ���� ������.�����  p  )�.�����	�(������
���  2 – 3  ���  ��1���	�-*(��)-���5����/0�	�&�'������&������&!�&#������  p  �	�� �!����  "�
�	�����
$'�.��������  -������$�������.���'��!���	�  �1�  ���(#��	�.��  (Z)  ����"�
�����#7�-�%�(�'�  
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��-�#7��'��!��$������#�	�
�(#��  Y   (�*)�$6*��	
�����2��-�	����.�����/0���   X  

�%/	(�'&$#899��	�  .������ �&�'"�
� ��������
"�
�	����  p  $�����(#�  Z  #���@�
�����
$���1��'�
 (���+���%?  +�	��9-%��0, 2547) 

 

2.2. �������������	���������������� 

 7���)�  ���������� (2535) +�����%����*!0����������	�
&�
)�3����*!����#: 2523-2524   

"�
)3'�%/	��� Factor Analysis ����� ����������	�
)������1���1����/����(�*����������	�
)!'
��'
1��*!����/������	�%�/%��������� �!������������	�
&�
 ��1���-��)�3�����������#A��.�	
��������%�
���	�'�
 /�������6%3
0��+�
(!�����%�)�#�*��+�����������#�*��+ ���-������
��
+��������.�����/0�*!����#8--�
���� 4 )����� �!������������	�
)��3%�#�%��6 ���(#��	�� ���
+����&�'(�� ����������	�
$�����������%��	�&��&�'�
��)����������$��/�����(!��#�*��+&�
 

����������	�
��%�)!'��'�*!����/�������6%3
0�;�	�
 (RINTB) , ����������	�
)������1���1�
���/���� 7 ��� (RP) , ����������	�
 (MOR). �����	�
��%�<��#�*- � (RDEP) .  #�%��6��%��	�
(�'-�%� (M). GDP. �������	� (GDPR). �������%��>B�,  ����������	�

�"�������0 1 ��1�� (EURO) 

(�* ���/�����	
��1��$�
������0.!��,����!�'� (FW)  "�
)3'$'������
&����. 2523-2524 

 5����+��������� ����������	�
$�����������%��	�����!�1�-�����������$��/�����
(!��#�*��+&�
 �	����.�����/0�������#�	�
�(#��$������������	�
����#�*��+�	�������
������60��	�
���������(���#�	�
���%��������	�.�� ��������1�����#�	�
�(#��$����
&�' (�*
#�%��6��%�)�&�����. ������%��>B��	5���*���������#�	�
�(#������������	�
�'�
 !���-��
����#A��.�	��������%�(�'��*�������#A�#�*��+&�'��%��$���-���'�
�* 82 �#7��'�
�* 86 .��5�)!'
�����)�������%�&�
 (�	��������1���1�)  �'�����5���*��-��#8--�
��
������$��� ���
#������$������������	�
)�#�*��+-��5�$��#8--�
��
���#�*��+���� )3'����)����#������
#�*��6 2 &����. ��1���	�-*� �)!'����#�	�
�(#��$������������	�
����#�*��+�'�
�* 1��*��
�������#�	�
�(#��$������������	�
)�#�*��+�'�
�* 0.66006 (�*������!���*�������#A�
#�*��+��%��$���-*� �)!'���#������$������������	�
����#�*��+�	���$��� 

 

 7�����<��  ������	=  (2547) � ����+��������������	�
3	�� �)����������%�$��&�
(�*
.!.�����/0�*!��������������	�
�����3�	����5�'��%"���%/	 Factor Analysis "�
� �$'���������
�����	�
&�'(�� ����������	�
��%�<��#�*- �(�� 6 ��1��$��/�������6%3
0 (Commercial Bank 

Time  Deposited Rate for 6  Month – BDR) , ����������	�
<��#�*- �(�� 3 ��1��$����%���
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��%���� (Finances Company Time Borrowing (Deposited) Rate for 3 months – FDR) , �����
�����	�
��%���'. �!�������'�3����	 ( Minimum Lending Rate – MLR) . ����������	�
�1���1����/����
$����,��� (Repurchasing Rate 14 – RP) ����������	�
)!'��'
1��*!����/����� (Inter Bank Rate – 

IR)  (�*����������	�
��%�)!'��'
1�$����%�����%���� (Finance Company Lending Rate – FLR) 

)�3����*!����!����#A��.�	�������'�-����3��� 2534-2547 

 5����+���� ����.�����/0�*!��������#�	�
�(#������������	�
�������#�	�
�(#��$��
��3�	����5�'��%"�� ����� )�3����	�!����#A��.�	��������%�-����3���������%��%�
�������
�+��,�%-���� ���(#�����.��(��-*&���	����.�����/0���(��)�3����	���%��%�
��+��,�%-��������
(#�����.����%���	����.�����/0����
���'�� (��
��&���	���.��#�*.%�/%?.!.�����/0�'�
  )�3���!���
��%��%�
�����+��,�%--����#8--������������(#�����.���	����.�����/0������ -�������$$��
.��#�*.%�/%?.!.�����/0�	��	����$'�)��' 1 �����#7����.��.�� �����	����-*�#7�5����-�����)3'�"
��
 

Inflation Targerting ��1���������������%��>B�$����,��� ������,���-*)3'����������	�
)������1��
�1����/�����*
*���� 14 ��� �#7�����������	�
3	�� �!�1��#7����.��.�99�6)�������%� 

 

�/8�
� �������/� (2547) � ����+��������.�����/0�*!������3�	����!�'�����!�������
0
(�*����������	�
���� 4 "�
�%/	 Cointegration (�* Error Correction Mechanism ��1����.��
����.�����/0�*
*
��(�*���#�������*
*.��� "�
���(#��	�� ���+���� &�'(�� ����������	�
�1��
�1�)��������/���� (Repurchase Rate) , �*
*���� 14 ��� ����������	�
)!'��'
1��*!����/����� 

(Interbank rate),  ����������	�
 MLR (Medium Lending Rate) , ����������	�
��%�<���������
0 
(Saving deposit) (�*����������	�
��%�<��#�*- ��*
*���� 12 ��1�� (Time deposit) 

 5����+�����	��	
� ����������	�
��%���'-������'���
)!9�3����	 (�*����������	�
��%�)!'
��'
1��*!����/����� �	����.�����/0)��*
*
�������3�	����!�'�����!�������
0 ���-���������
��.�����#������)��*
*.���$����3�	����!�'�����!�������
0����� ����������	�
���������	
�%�/%��������#������)��*
*.���$����3�	����!�'�����!�������
0�	��'�
  

 

 �����	+�  ������,$&� (2552) &�'� ����+��������.�����/0�*!��������������	�
(�*
��3�	����5�'��%"����
)�#�*��+&�
 "�
�#7����+����-��$'�������%
���% ����)3'$'������
��1�� 

����(����1�������� �+.2542 ��� ��1��/������ �+.2551 �������.%�� 120 ����
��� "�
)3'����%�"�
�%��%���3�� (Cointegration) (��- ����������0���0���3��� (Error Correction Mechanism) (�*���
��.�������#7��!���#7�5� (Granger Causality)  
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 5����+���������$'��������������	�
(�*��3�	5�'��%"���	����6*�%���	� Order of  

Integration ������� 1 )������.�����
���)��*
*
��$�����(#�����.������� �	����.�����/0
�3%����
���)��*
*
��.���%+��� (�*��1����.��$������#������)��*
*.�������� ��3�	
5�'��%"���#7����(#���� (�*����������	�
�#7����(#��%.�* -*&���	���#������)��*
*.�����1���$'�
.�����
����*
*
�� .���)���6	�	�����������	�
�#7����(#���� (�*��3�	����5�'��%"���#7����(#�
�%.�* ������	���#������)��*
*.�����1���$'�.�����
����*
*
�� )������.��.���%,���3%��#7�
�!���#7�5������ ����������	�
&���#7��'��!��$����3�	����5�'��%"�� (�*��3�	����5�'��%"���#7�
.��!��$������������	�
�	����#������)��*
*.�����1���$'�.�����
����*
*
�� 

 

2.3 ����	���&��,��#����� 

 Narayan (2003) � ����+������	�
��������.�����/0�*!����������(�*��������$��
#�*��+9	�#�=� "�
)3'����%� Cointegration ��.��!�����.�����/0�*!����������(�*���
����� "�
�'���%�����	���)3'$'�����	��#7�#8--���� .�����!�&�'���
(�*��.��!��������
1�!
���
)��*
*
�� �'�
���)3' The Autoregressive Distributed Lag Model ���$'�������������� )�3���
#: �+. 1960-1999 � �!�����(#�����1� �������� (�*���(#��%.�*�1� ������ "�
$���(��)3'
�����.�� Unit Root $��������)3' Bootstrap Apporach $�� Granger-causality (�*� ����
��.�� Cointegration test -������� ������.��!��������.�����/0�*
*
��(�*�*
*.���$�����
����
1�!
��� -�����+��������� ������(�*��������$��#�*��+9	�#�=��	 Cointegrated �1����
���� �)!'��%��������� ���������#7�.��!��)!'��%������� !��
��� ��1���	����������%����%��	�&�'
-������������%���2-*� �)!'��%���%������%�� ����*�#7����)3'��%��	��	�
��$��������&#)3')����
����� (����5��	�&�'$��(
'�������$�� Sinha (2002) ) "�
 Shocks 
�����	�
�� (�*)��*
*
�����
����
1�!
���$���������������  0.68 -��.%���	��'���� �)!'����%-�
3%���	�&�'$'�.��#��� Feldstein 

and Horioka puzzle &���#7�#89!�)���6	$��#�*��+9	�#�=� 

 

 Balamurali and Bogahawatte (2004) &�'+�����������.�����/0�*!������������
"�
���-������#�*��+�������-�%9��%�"�����+��,�%-$��#�*��++�	������ "�
)3'$'����
������������
#: ����(��#: 1977-2003 "�
)3'����%��%/	 Maximum Likelihood Cointegration $�� 
Johansen (�* Juselius "�
)3'���(#����� 4 ����+��,+�.��0 "�
 GDP �#7�>8��03���$�� ���
�����"�
���-������#�*��+ ����������
)�#�*��+ (�*����'��*!����#�*��+ ���-���	�
��
&�'��.�������#7��!���#7�5�����*!�������(#� Granger Causality Tests -�� Error Correction 
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Model ����� �����"�
���-������#�*��+�	����.�����/0.������	��	����.�����/0��� GDP ����
�	����.�����/0)��%+������ �3����	
������� ����������
)�#�*��+ (�*����'��*!����
#�*��+�	��'�
 

   

 

 


